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Seat No.: ________                                                        Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–III • EXAMINATION – WINTER • 2014 

Subject Code: 3330504 Date: 01-12-2014        

Subject Name: Industrial Stoichiometry 

Time: 10:30 am - 01:00 pm Total Marks: 70 
Instructions: 

1. Attempt all questions. 

2. Make Suitable assumptions wherever necessary.  

3. Figures to the right indicate full marks.  

4. Use of programmable & Communication aids are strictly prohibited.  

5. Use of only simple calculator is permitted in Mathematics.  

6. English version is authentic. 

7. Mol. Wt. H =1, O = 16, N=14, S=32, Na=23, Cl=35.5, C=12 

 

Q.1  Define any seven out of ten. 14 

 1. Pressure  

 2. Power  

 3. Fundamental quantity  

 4. Mole  

 5. Equivalent weight  

 6. API gravity  

 7. STP  

 8. NTP  

 9. Limiting reactant  

 10. Conversion  

    
Q.2 (a) Discuss SI system in brief 03 

  OR  

 (a) Define Molarity and Normality 03 

 (b) Calculate equivalent weight of H2SO4 03 

  OR  

 (b) Calculate number of moles of 54 kg water 03 

 (c) 100 kg of 32 % Na2SO4 is cooled to 20 0C. Calculate mass of crystals formed,  

if solubility is 19.4 gm per 100 gm water 

04 

  OR  

 (c) Write material balance in binary distillation 04 

 (d) Draw sketch of recycling and by-passing operation 04 

  OR  

 (d) Calculate moles  of  2 m3 air at 100 kPa and 30 0C  04 

    
Q.3 (a) Calculate density of hydrogen gas at 101 kPa and 150C 03 

  OR  

 (a) If 3 gmoles of caustic soda reacts with 3 gmoles of Hydrochloric acid,  how 

many grams of salt is produced ? :  NaOH + HCl → H2O + NaCl 

03 

 (b) Define heat of formation 03 

  OR  

 (b) Define heat of Reaction 03 

 (c) Compare Heat capacity and specific heat  

 

04 

  OR  

 (c) Find molar composition of solution If 50 kg of 10% acetic acid is mixed with 

150 kg of 20% acetic acid. 

04 
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 (d) Compare sensible heat and latent heat 04 

  OR  

 (d) Write Dalton’s law and Amagat’s law  04 

    
Q.4 (a) Explain yield in brief 03 

  OR  

 (a) List types of fuel with example 03 

 (b) How much lime is produced by complete calcination of 100 kg Limestone : 

CaCO3→ CaO + CO2 

04 

  OR  

 (b) Discuss ultimate analysis of fuel in brief 04 

  (c) 200 kg of 4% Caustic soda is concentrated to 25% solid. Calculate water 

evaporated. 

07 

    
Q.5 (a) Calculate Heat of reaction: 4NH3 + 5O2→ 4NO + 6 H2O,  

∆Hf NO = -90 kJ/gmol,  ∆Hf H2O = -242 kJ/gmol,  ∆Hf NH3= -46 kJ/gmol 
04 

 (b) How many moles of air is require to burn 10 moles of methane 04 

 (c) Describe  NCV 03 

 (d) Integrate general heat capacity equation 03 
 

************ 

ગજુરાતી 
પ્રશ્ન. ૧  દશમ ાંથી કોઇપણ સ તની વ્ય ખ્ય  આપો. ૧૪ 

 ૧. દબ ણ   

 ૨. ક યયત્વર    

 ૩. મળૂભતુ ર શી    

 ૪. મોલ   

 ૫. તલુ્યભ ર   

 ૬. API ઘનત    

 ૭. STP  

 ૮. NTP  

 ૯. લલમમટીંગ પ્રક્રિયક   

 ૧૦ રૂપ ાંતર   

    
પ્રશ્ન. ર અ SI પદ્ધમત ટૂાંકમ ાં ચચો  ૦૩ 

  અથવ   

 અ મોલ ક્રરટી અને નોમ યલલટીની વ્ય ખ્ય  આપો  ૦૩ 

 બ H2SO4 નો તલુ્યભ ર ગણો  ૦૩ 

  અથવ   

 બ 54 kg પ ણીન ાં મોલની સાંખ્ય  ગણો ૦૩ 

 ક 32 % Na2SO4 ન ાં 100 kg ને 20 0C સધુી ઠાંડ  કર ય છે. દ્ર વ્યત  19.4 gm per 

100 gm પ ણી હોયતો ઉત્પન્ન થત  સ્ફક્રટકોન ુદળ ગણો.  

૦૪ 

  અથવ   

 ક બ યનરી ક્રડસ્સ્ટલેશનનુાં મક્રટક્રરયલ બેલેંસ લખો  ૦૪ 
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 ડ ક્રરસ યકલ અને બ ઇપ સ ઓપરેશનનો સ્કેચ દોરો ૦૪ 

  અથવ   

 ડ 100 kPa  અને  30 0C એ 2 m3 હવ ન ાં મોલ ગણો  ૦૪ 

    
પ્રશ્ન. ૩ અ 101 kPa અને 150C એ હ ઇડ્રોજન વ યનુી ઘનત  ગણો  ૦૩ 

  અથવ   

 અ જો કોસ્સ્ટક સોડ ન ાં 3 gmoles હ ઇડ્રોક્લોક્રરક એમસડન ાં 3 gmoles સ થે પ્રક્રિય  
કરે તો કેટલ  ગ્ર મ મીઠુાં ઉત્પન્ન થશે ? :  NaOH + HCl → H2O + NaCl 

૦૩ 

 બ ફોમેશન ઉષ્મ ની વ્ય ખ્ય  આપો  ૦૩ 

  અથવ   

 બ પ્રક્રિય  ઉષ્મ ની વ્ય ખ્ય  આપો ૦૩ 

 ક ઉષ્ષ્મય ક્ષમત  અને મવમશષ્ઠ ઉષ્મ  સરખ વો  ૦૪ 

  અથવ   

 ક જો 10% એસેક્રટક એમસડન ાં 50 kg ને 20% એસેક્રટક એમસડન ાં 150 kg સ થે 
ભેળવવ મ ાં આવે તો  દ્ર વણની મોલ ર  કાંમ્પોલિશન શોધો  

૦૪ 

 ડ સાંવેદી ઉષ્મ  અને ગપુ્ત ઉષ્મ  સરખ વો  ૦૪ 

  અથવ   

 ડ ડ લ્ટન અને એમ ગેટનો મનયમ લખો  ૦૪ 

    
પ્રશ્ન. ૪ અ મયલ્ડ ટૂાંકમ ાં સમજાવો  ૦૩ 

  અથવ   

 અ બળતણન ાં પ્રક રોની ઉદ હરણ સ થે ય દી બન વો  ૦૩ 

 બ 100 kg ચનુ ન ાં પથ્થરનુાં સાંપણૂય કેલ્શ ઇનેશન થત  કેટલો ચનુો ઉત્પન્ન થશે ?   
: CaCO3→ CaO + CO2 

૦૪ 

  અથવ   

 બ બળતણની અસ્લ્ટમેટ એન લલમસસ ટૂાંકમ ાં ચચો  ૦૪ 

 ક 4% કોસ્સ્ટક સોડ ન ાં 200 kg ને 25% કોસ્સ્ટક સોડ  સધુી સ ાંદ્ર કર ય છે. કેટલ  
પ ણીનુાં ઉત્કલન થશે તે ગણો.  

૦૭ 

    
પ્રશ્ન. ૫ અ પ્રક્રિય  ઉષ્મ ાં ગણો : 4NH3 + 5O2→ 4NO + 6 H2O,  

∆Hf NO = -90 kJ/gmol,   ∆Hf H2O = -242 kJ/gmol,   ∆Hf NH3= -46 kJ/gmol 
૦૪ 

 બ મમથેનન ાં 10 moles ન ાં દહન મ ટે કેટલ ાં મોલ હવ ની જરૂર પડશે ? ૦૪ 

 ક NCV વણયવો  ૦૩ 
 ડ ક્રહટ કેપેમશટી ન ાં સ મ ન્ય સમમકરણ નુાં સાંકલન કરો  ૦૩ 
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